State Park Sudoku

Sudoku puzzles have nine spaces across, nine spaces down and nine boxes of nine spaces within
each. Usually solved with numbers, State Park Sudoku uses symbols.

When a Sudoku is solved correctly, the nine items will appear once in each row, column and box—
but only once—and not in any particular order.

Clues have been filled in to get you started.
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See solution on following page.



but only once—and not in any particular order.

State Park Sudoku Solution

Sudoku puzzles have nine spaces across, nine spaces down and nine boxes of nine spaces within
each. Usually solved with numbers, State Park Sudoku uses symbols.

When a Sudoku is solved correctly, the nine items will appear once in each row, column and box—

o O

SN

LAy

e

4

[ 75

A

i

———

I

SN

[/

RSN

£33

4

K
+x
A

j

i
+x
K
A

"

=

K
B
I
SN
-
i
T+

> e |

4 o> = L

.
—

=
£
n
i




